2440 LS aR(LEDER) F244E@ LS aUR(HDDOER)

JIE L K£ zaritifzazatd FOR [IZoF4] vk &% JIE {2 K% zariti|zazae JAOX |1\ T4] Yk k=
12H K— 41 A 82 16.8 65.2|KEE AE [E:3. R 44] 42 86 241 619|AE
2[5k H FH—ER 54| 51 105 38.4 66.6| A S 2|8 HF 43[ 52 95 324 62.6| AS
3|HTH IER% 39| 36 75 7.2 67.8| A2 fERAR A8 40] 44 84l 212] 628|AE
4EH $+9& 46] 56 102 33.6 68.4| A B A3RAK BE 45| 52 97 32.9 641|AE
5|latE & 40| 44 84 14.4 69.6| A& 5|8 EX 43| 52 95 30.6 644| A E
6| —I[E _#JL\ 44 40 84 14.4 69.6| A S 63RA RE— 52| 45 97 325 64.5| A S
HEEEE G 421 40 82 12 70| AE 71lEA £F 46 42 88 234 646|AE
8|k 1 56] 60 116] 456 704 A E 8| EH #C58 40 45 85 203]  64.7|AE
9I1EHN —F 55| 54 109 38.4] 706|[/MNEE AE 9iF HE 40| 48 88 233 647|AE

10[3&)1 1817 50] 47 97 26.4] 706/ AE 10[ER ZEF 45| 51 96 31.2] 648|AE
11182 FRH 49| 48 97 26.4 70.6 11| K& HEZAR 52 49 101 36 65
12[f8 HBF 43| 52 95 24 71 12[RA EF 49] 56 105 39.9 65.1
13|55 FH 45| 50 95 24 71 13[ILA FF 47| 49 96 30.4] 656
148 H®R 40 48 88 16.8 71.2 14| BE 47 41 88 22.3 65.7
155% 7XF 42] 46 88 16.8 71.2| R E 15|54 ATl 471 41 88 22.2]  65.8|RE
16[1A f#X 44| 44 88 16.8 71.2 16[FAN EF 50 56 106 39.9 66.1

17[= M 18X 38] 38 76 48 71.2 17(31H BE 44] 40 84 17.8]  66.2
18[FH EA 56/ 56 112 408 71.2 18| FIE 45| 48 93 26.6 66.4
9UE —X 48[ 40 88 16.8 71.2 19[S 39] 42 81 14.1 66.9
20|F)Il #F 53] 52 105 33.6 71.4|RE 20|18 B 40| 39 79 11.8]  67.2|%E /NKE BGH
21|HF BHHE 47 46 93 21.6 71.4 21|20 & 49 44 93 25.7 67.3
22| &7 52| 53 105 33.6 71.4 2| AR B 46 45 91 235 67.5
2|ME EF 471 51 98 264 716 23|A+ HHSB 47| 46 93 25.1 67.9

24| E4AF T 48] 50 98 264 716 24|14t FHik 40| 46 86 18 68
5[4 Fik 40 46 86 14.4 71.6|H/E 25|ImAK R 53/ 51 104 36 68|RE
26[/MNER R 50/ 53 103 31.2 71.8 26| HIF == 44 42 86 17.9 68.1
27|[m =% 421 42 84 12 72 27|7F5= 1§M 49 49 98 29.9 68.1[/KTFE
28[HTF [ 45 39 84 12 72 28|FAT E= 44 41 85 16.7 68.3
29[EH E&E 47| 42 89 16.8 72.2 29/NEJR HHHY 48] 50 98 29.5 68.5
30[FH)I E# 46 43 89 16.8 72.2| R E 30|FL B+ 46 48 94] 252| 68.8|mE
31|43 —ER 38| 44 82 9.6 72.4 31|57 B2 50/ 50 100 31.2 68.8
32|Fl EF 46| 48 94| 216 72.4 A ETIE = 40 42 82 13 69
33[HhR %ﬁ% 51 48 99 26.4 72.6 33|—E X 46| 46 92 22.9 69.1
MER ZE 43| 44 87 144 72.6 4|FEFT FA 40| 43 83 13.8 69.2

35| E 1;;5% 46| 46 92 19.2 72.8| R E 35| F FEfT 44| 46 90|  20.6 69.4|FRE
6| K= 44] 41 85 12 73 36| ¥R 15AE 52| 45 97 27.6 69.4




7R EE 49 48 97 24 73 37| EH 60/ 59 119 49 4 69.6

38| ETE WH 46 51 97 24 73 | EF = 47 42 89 19.3 69.7
2R IRCES 45 40 85 12 73 I|HhE EFE 46 46 92 22.2 69.8

0|7 F SE 43 47 90 16.8 73.2| R E 0(FR & 43| 44 87 17.1 69.9|RE
MR FEF 51 51 102 28.8 73.2 IR 43| 43 86 16 70
2)LK EE 52| 43 95 21.6 73.4 2|HE 1E50 43| 44 87 17 70
43|45 & 43[ 45 88 14.4 73.6 43|50 % EH 49 47 96 25.8 70.2[k=CWVE
UEAR EF 46| 42 88 14.4 73.6 MK BEF 51 51 102 31.7 70.3
45(fkRE —Bp 41 40 81 7.2 73.8| R E 45(F) #F 53] 52 105 34.5 705[RE
46|k FEIE 45( 48 93 19.2 73.8 46|HE A B 43| 52 95 24 .4 70.6
47| S 39 42 81 7.2 73.8 47T HBE 43] 43 86 15.1 70.9
48552 5 53[ 52 105 31.2 73.8 48R FEB 45| 44 89 18.1 70.9
49(FEER BEF 52| 46 98 24 74 49|87 FERE 46 46 92 21 71
50|F%iE FHE 49 49 98 24 74| RE 50 RA = 48] 50 98 27 71|HRE
51| AR B 46] 45 91 16.8 74.2 EISIRCES 45| 40 85 13.8 71.2|kSCWVE
52| EEE B 40 39 79 48 74.2 52|78l FHEHE 47] 46 93 21.8 71.2
S53;EH B 47 49 96 21.6 74.4 53|28 F— 40 44 84 12.6 71.4
54|giIH BE 44| 40 84 9.6 74.4 54| Bl BEF 53] 50 103 31.6 71.4
55|k ”/ A AP 40 44 84 9.6 714.4| R E 55| Il Z&Z— 46 44 90 18.5 71.5|HRE
56[/AX & 52| 44 96 21.6 74.4 56| =48 KA 42 49 91 19.5 71.5
57|ER ZEH 45| 51 96 21.6 74.4 57|IUAK BEF 47| 51 98 26.3 71.7
58|FHN EJA 50| 46 96 21.6 74.4 58| % [# 43| 45 88 16.2 71.8
5|FA R 62| 56 118 432 74.8 595K TR 43 46 89 17.2 71.8
NENTE = 401 42 82 7.2 748|RE 60[4H)Il IE A 44] 48 92 20.1 T19|RE
61|HFE HE 53| 53 106 31.2 74.8 61|7KHE #F 53] 55 108 36 72
62[:th R 50| 49 99 24 75 62| E# = 48] 50 98 25.8 72.2
633RA 1TH 52| 47 99 24 75 63| EH {EfcF 43[ 51 94 21.7 72.3

Y EEE 51 48 99 24 75 64|55 HF 46 50 96 23.4 72.6
65[—[E BBk 46| 46 92 16.8 715.2|RE 65(FEEH BEF 52| 46 98 25.4 712.6|RE
66|#% If 51 53 104 28.8 75.2 66| £7] 52| 53 105 32.3 72.7
67|BRIE #F 371 43 80 48 75.2 67|l FH&H 51] 55 106 33.2 72.8
68]/FY FE(E 42| 50 92 16.8 75.2 68|EAA EE 49| 48 97 24.1 72.9

69| ik K—ER 43] 49 92 16.8 75.2 69|LUAKR FEE 52| 43 95 21.9 73.1
T0RAK B— 52| 45 97 21.6 15.4|RE 70|F1E FF 50 55 105 31.7 713.3|RE
1|8 EiE 47| 50 97 21.6 75.4 MEGEEE] 45 45 90 16.6 73.4
72|FFF  BAh 45( 52 97 21.6 75.4 2|7% BE 43| 47 90 16.6 73.4
1308 WL 54| 55 109 33.6 75.4 73| % 47 45 92 18.6 73.4
74U EB 49] 48 97 21.6 75.4 14|52 FliE 49 46 95 21.6 73.4

75| #0fE  {EAE 52| 45 97 21.6 75.4| RE 5\ 5H #BX 46] 56 102 28.5 73.5|mE




16| EE ¥=— 45 45 90 14.4 75.6 76|15 %=HH 61 46 107 33.5 735| KEE
71718% FliE 49 46 95 19.2 75.8 RS 421 42 84 10.4 73.6

78| HM AH 43 52 95 19.2 75.8 18|55 7XF 42( 46 88 14.4 73.6
79|=9% —B8 36 35 71 -4.8 75.8|BGE 79|15H EX 44 44 88 14.4 73.6
80[EA# R 47 41 88 12 76|RE MBS 48| 46 94 20.4 73.6|RE
81|+ FHE 46| 42 88 12 76 SIINAR FHK4 571 45 102 28.2 73.8

82| H it 47 41 88 12 76 82[5H EF 50 57 107 33.1 73.9

83 AR HF 49| 56 105 28.8 76.2 83|18 WH 46| 51 97 22.9 741

84| HE HE 43] 43 86 9.6 76.4 84|EE FX 44] 49 93 18.8 74.2
85[FH EFH 41 45 86 9.6 76.4| R E 85[/h iy —1i8 45 43 88 13.7 74 3| R E
86|AH FE— 411 45 86 9.6 76.4 86[ILUA {BEL 51] 50 101 26.7 74.3
87| 2 43| 43 86 9.6 76.4 87|Ad FF— 41 45 86 11.6 74.4
88|=18 KA 421 49 91 144 76.6 ss|E)Il 81T 50 47 97 22.6 74.4
89|EAH Z 51] 52 103 26.4]  76.6 89|#EIL EF 51] 48 99 24.5 74.5

90| Bl HEF 53] 50 103 26.4]  76.6|E 90(ith BE 50| 49 99 24.5 74.5|7E
NIUT AE 51 52 103 26.4 76.6 91| BiE 45 46 91 16.4 74.6

21 +tF HRiG 41 43 84 7.2 76.8 2/NER HF 46 51 97 22.3 74.7
IB|BHE BE 54| 54 108 31.2 76.8 93|[RH 1E1T 48| 52 100 25.3 74.7
SRS 421 42 84 7.2 76.8 94|=E & 51 52 103 28.3 74.7

95| KBk HEZER 52 49 101 24 ESS 95(F9H B+ 57[ 53 110 35.2 748|RE
96| KN 3:E 45| 44 89 12 77 96| =48 AT 47| 47 94 19.1 74.9
97;5K _THid 43| 46 89 12 77 973RA 1TH 52| 47 99 23.9 75.1
98K Eif 49| 52 101 24 77 98|h4t E—ER 57| 48 105 29.4 75.6

99| IlUA {#5h 51 50 101 24 77 9|8 FiE 47 50 97 21.2 75.8

100| EH {k#dF 43[ 51 94 16.8 771.2|RE 100|FEE XA 48| 57 105 29.2 75.8| R E
101|554 BB= 53] 53 106 28.8 77.2 101[F9 A% 1$ 56] 60 116 40.2 75.8
10218 H A 56| 50 106 28.8 77.2 102[f N EA 50 46 96 19.7 76.3

103|H £ {&£H0 43| 44 87 9.6 77.4 103|#% Ih 51 53 104 27.6 76.4
10428 wiE 49] 55 104 26.4 77.6 104[1E;F8 #5h 51| 49 100 23.5 76.5
105/)110 =BE 55 49 104 26.4 77.6|RE 105| AR B= 52| 54 106 29.5 76.5|mE
106|IAAK R 53] 51 104 26.4 77.6 106[IRA FO+¥ 50/ 61 111 34 77
107|¥7h BERE 46 46 92 14.4 77.6 107[ ElL 0 56/ 56 112 34.8 77.2
108[#A)I1 1E A 44| 48 92 14.4 77.6 108| M2 EF 49| 50 99 21.6 77.4

1093 AK ZIE 45| 52 97 19.2 77.8 109|FiE BE 53 53 106 28.5 775

110| LA #2388 40| 45 85 7.2 77.8|RE 110|. L@ EBFH 41 45 86 8.4 77.6|RE
111 R 1T 44] 46 90 12 78 11|54 5 53] 51 104 26.1 77.9
112|518 HE 45| 45 90 12 78 1128857 BUA 49] 49 98 19.7 78.3
113|E1% Z=BH 61 46 107 28.8 718.2| KIRE 113|7kFHF Eih 52 41 93 14.2 78.8
14|80 FX 43| 52 95 16.8 78.2 114|8A X & 52| 44 96 16.9 79.1




115(F4T fOA 40/ 43 83 48 78.2| R E 115(B8 @ & 51 52 103 23.8 79.2| R E
116[)110 F1Fxk 47| 48 95 16.8 78.2 116[IL T AE 51] 52 103 23.8 79.2
117[BR X 51 44 95 16.8 78.2 17hER F 50 53 103 23.7 79.3
118|[EA 1E1T 48] 52 100] 216 78.4 118[EF & 49| 55 104] 246 79.4
19|51 B 471 A1 88 96| 784 119[|A+ FR% 58] 44 102]  225] 795
120[=1L 58 42| 46 88 9.6 78.4| R E 120[3A fFF 52 62 114 345 79.5|RE
121/h iy —13& 45 43 88 9.6 78.4 121;@AK BF 56/ 50 106 26.4 79.6
122| B FX 44| 49 93 144] 786 122[;8A B 47] 49 96 16.2 79.8
123[ 516 F0F 50[ 55 105 26.4 78.6 123| AR —4& 55 60 115 34.3 80.7
124|F% B 44] 42 86 7.2 78.8 12|55 88 57| 58 115 34.1 80.9
125|AFH K 44| 42 86 7.2 78.8| R E 12580 —F 55 54 109 27.9 81.1|IkRE
126|HER 185 46| 52 98 19.2 78.8 126|F5% ¥R 53] 61 114 32.9 81.1
127501 &— 42| 44 86 7.2 78.8 127|k K 1EF 55| 55 110] 288] 812
128|4K 1TE 52 51 103 24 79 128|388 K 1718 52 51 103 21.4 81.6
129t 7% &t 45| 46 91 12 79 129[lUAX BEF 49| 52 101 19.2] 818
130|hH BEF 45| 46 91 12 79| E 130[f A R 62| 56 118 35.8 82.2
131[ILA FF 47] 49 96 16.8 79.2 1317+ E& 53] 50 103 19.5] 835
132/ BE 51| 45 96 16.8 79.2 132|1Rik & 60| 53 113 28.7 84.3
133[Ff EF 46] 50 96 16.8 79.2 133[ KA iy 61] 59 120 355] 845
134 UK BEF 49 52 101 21.6 79.4 134[HA #H=E 57 66 123 34.9 88.1
135|F%H =EE 48] 46 94 144  79.6|mE 135[—#1 ZE=ER 53] 50 103 134  89.6
136|F8N BF 50 56 106 26.4 79.6 136[ILUTF 1&4E 82[ 69 151 50 101
137[#1L =F 51 48 99 19.2 79.8

138(HE BEF 49[ 50 99 19.2 79.8

139(F[E 47 45 92 12 80

140[#b)1 HFE 47] 45 92 12 80|mE

141\ %% ¥R 53] 61 114]  336] 804

142|AF X 58| 44 102 21.6 80.4

143|783 B 63 63 126] 456] 804

144|5H EF 50[ 57 107]  26.4] 80.6

1457810 F# 47 46 93 12 81|m =

146|904 EF—ER 57| 48 105 24 81

147[28 % 49| 44 93 12 81

148[7kF £ 52| 41 93 12 81

149|FRE KA 48] 57 105 24 81

150(F9A #F 57| 53 110 288] 81.2|®kE

151/ HHY 48] 50 98 16.8 81.2

152\ E ERE 46| 52 98 16.8] 81.2

153[RK FEX 48] 50 98 16.8] 81.2




154K & 51 47 98 16.8 81.2
155| =8 BFE 51] 52 103 216 81.4|RE
156| 58 —4% 55| 60 115 336] 814
157[/D#8 EitA 50/ 53 103 21.6 81.4
158| T E& 53] 50 103 21.6 81.4
159| 7 #E 53| 48 101 19.2 81.8
160/ KFH B— 50/ 51 101 19.2] 81.8|x&E
161|548 BT 47] 47 94 12 82
162[)Il& R 47| 47 94 12 82
163| AR = 52| 54 106 24 82
164|—[E BB{E 56] 50 106 24 82
165 LT Z 46| 60 106 24 82|RkE
166[ME F—ER 59| 64 123 40.8 82.2
167[ILA FIIE 53| 46 99 16.8] 822
168| FHt+ EFHE 56| 55 111 288 822
169[/NER HF 46 51 97 14.4 82.6
170{ L[ {28 50 47 97 14.4 82.6|®kE
17T1IHAER FHR, 571 45 102 19.2 82.8
172|FAK [&IE 45| 45 90 72| 828
173|158 #5h 51| 49 100 16.8] 832
174|588 8CA 49] 49 98 144  83.6
175[ K IEF 55| 55 110 26.4 83.6| ke
176|—# FE=ER 53] 50 103 19.2] 838
177|LLRy BXES 47] 49 96 12 84
178|FHR % 53| 55 108 24 84
179| %MW [5F 61] 59 120 36 84
180[5h3E 1A 47 47 94 9.6 84 4|k E
181[IBEX Hv+ 52/ 59 111 26.4] 846
182|3h A FOF 50 61 111 26.4 84.6
IERIESZSI=F 53] 58 111 26.4 84.6
184|518 5 53] 51 104 19.2 84.8
185|¥AH EEF 57| 64 121 36 85| =
186|h A 1EF 52| 62 114 28.8 85.2
187[mJIl FH‘— 46] 44 90 48] 85.2
188|Ft FBif 60| 59 119 336] 854
189|F6H HE— 55| 45 100 144] 856
190( F1IL F#0 56| 56 112 26.4] 85.6|®E
191|578 BE 50/ 50 100 144  85.6
1927 IF& 59| 53 112 26.4] 856




193|f A 5K H=* 65| 62 127]  408] 86.2
194|Fh%t Z 5 49] 47 96 96| 864
195K A F 53] 55 108 216] 864|&KE
196 KA Uy 61 59 120 33.6 86.4
197(HA #=E 57] 66 123 36 87
198[#A[E IENE 56| 51 107 19.2 87.8
199[lUKX EBEF 471 51 98 96/ 884
20005H E5 57] 58 115 26.4] 88.6|RE
201 |17k B 60| 53 113 24 89

202| I LiRF dE 51] 55 106 16.8] 89.2
203|[E# SF= 60| 62 122 31.2 90.8
204K BF 56] 50 106 144 91.6
205|255 EBE 61/ 55 116 21.6 944 E
206|ILTF 181k 82] 69 151 456] 1054/|BBE
207[ImA ARk 71 64 135 26.4] 108.6/|BME




